[SFITEE] THORER (B) RURERZFICHTHAHHHBREIZDOINT
B 9490 —AX)L b /B

(H31] 4A5 - 128 (R1] 7R5 - 128 10A4-10-118 [R2] 1R10-17H

(£ - &) (£ - &) (& -K-%) (& - &)
A E 5 -l =

AER | AxEmE | AR | AxmE | AEE | mixE | AR | AxE
AEesgl | WSv/h) [aEeszl | WSv/h) | aiEeszl | WSv/h) | BiEeszl | WSv/h)

B A B 50cm 5H 0.06 5H 0.06 4B 0.06 108 0.06
(BEAARHET/\R) 5om 13:55 0. 07 11:40 0. 06 13:00 0. 06 14:00 0. 07
AEHEEE 50cm 128 0.07 128 0.06 18 0.06 178 0.07
(H 4RRHT 2 358 ) 5om 9:06 0. 07 9:10 0. 06 12:50 0. 06 12:07 0. 07

MERSE 50cm 128 0.07 128 0.07 18 0.07 178 0.07

(B[R ETEAR) 5om 13:15 0. 07 11:58 0. 07 13:20 0. 07 12:30 0. 07
jqiif%:ﬁk 50cm 5H 0.07 5H 0.06 = 0.06 178 0.06
(KiEHT) 5om 13:15 0. 07 13:00 0.06 13:59 0.06 9:20 0. 07

mpmEEE | 20" | 12\ 0. 06 128 0.07 = 0. 06 178 0. 06

PBEEE [ 925 [ 007 1 %27 [ o007 1 150 o0 | 1% [ o8
hEFELOR | 20 | 2@ 0.07 | 45q 0.06 | g 0.06 | ;g 0.07
(RETER) [ | 1015 [ o5 | 1005 [ o7 | 1110 005 | 1102 [ 4o
xazrbom | 9 | sg 0.07 - 0.07 5 0.07 | 10g 0.06
R [ ] 1330 [ o5 | 1220 [ 007 | B3 [ 007 | 415 [ 5o
LEEES i 0.06 0.06 0.05 0.05
RifEilt 2 — 1225 5 040 =
(ZE)IETES) | S5om : 0.06 : 0.06 : 0.06 : 0.06
B m 0.07 0.06 0.07 0.07
A EEE 128 128 108 178

s | sem | V20 | g7 | VT o017 | 10900 | g7 | 10910 | o 07




